warn Cdot N }} [pb/Rad]

A

=

Ratio to ATLAS

d2

1071

1072

0.5

13000 GeV pp tt
| T T T T Tl | T Tt T T | I I | T
AQ (ttbar) (ATLAS ttbar)
-~ m ATLAS E
— —&— Pythia 8.308 default —
| ---+-- Pythia 8.308 tune-AU2 |
| --©-- Pythia 8.308 tune-AU2lox a
--8-- Pythia 8.308 tune-AU2loxx

[ —— Pythia 8.308 tune-AU2m N
- | o
:l__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__@__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__}:
L 3 |
e S S S ]
::-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_-_'_T@F_':_':_':_':_':_':_':_':_':_':_':_':_':_':_':_':_':_':::
o s _
L ‘z""""""""“““““““““"“_

| 1 1 1 1 " | " 1 1 1 1 | 1 1 " | " 1
0 1 2 3

Ag” ™) [Rad]

Rivet 3.1.10, = 2.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


